ETRItHE#H- AOXR(BEAN)

Erk28%F 18 1BR%E

B 4 3 s = &t B &% | # T # 5 = &t

1B ZEHT 04 151 164 315 || E RRHT 329 422 464 886
KIRHET 1,834 2,404 2,468 4,872 (#KHET 383 476 439 915
2 T 141 136 111 247 |hEHT 162 223 213 436
= HT 4,033 4,840 5,026 9,866 | L ILIHET 249 333 355 688
=%4deB@ 1,183 1,471 1,528 2,999 (77 SHT 331 401 435 836
I HT 389 539 535 1,074 |#ARHET 340 394 428 822
22 [iE] HT 1,525 2,188 2,135 4,323 |(EHT 323 371 423 794
B FFHT 244 267 334 601 (|SHT 426 458 462 920
JK AT ET 1,171 1,604 1,622 3,226 (48/RHET 182 244 270 514
1= i) 694 1,020 1,021 2,041 (T4 HT 2,229 2,800 2,622 5,422
Y A< HT 75 131 142 273 ||HHEHT 102 160 167 327
4,/ SERET 519 810 806 1,616 |[f5RHT 892 1,040 1,077 2,117
FF4RHET 399 544 547 1,091 ||FEEHT 865 1,017 1,062 2,079
R ET 155 231 215 446 |;EHT 0 0 0 0
S AR T 201 238 243 481 |—fBHT 160 232 233 465
Y JA BT 60 1 62 133 & FHT 864 1,174 1,211 2,385
¥ HHET 286 349 357 706 (|2 ERH]T 4,526 6,153 6,271 12,424
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H BR T 350 386 432 818

ZAHT 391 484 521 1,005
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JUHT 307 379 367 746
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